CRALCYL WENTAL GCLy2

8x8=____

7 +30 = ____
530 + ____ = 600
10 x 10 =

8x8=____
22 + = 30

78 + 80 =
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29 pour aller a 30 - ____
38+ 70 = ____

290 + ____ =300

16 x 1000 = ____

Le double de 120 est :
6b6x8=____

81+ ____ =90

67 +40 = ____

560 pour aller o 600 - ____
20 x 100 =

CRALCYL WENTAL GCLy2

9x6b6=____

88 pour aller a 90 - ____
36+10=____

550 + ____ = 600

12 x10 = ____
Zx8=____

95+ ____ =100

77 +50=____
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72 +60=____

380 + ____ =400

17 x 1000 = ____

Le double de 120 est . ____
8x6b6=____

63+ ____ =70

48 +10 = ____

970 pour aller ¢ 1000 - ____
18 x 100 = ____
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Réponses

col 1 col 2

64 1

1 108

107 10

70 16000

100 240

180 48

64 9

8 107

158 40

10 2000

Réponses

col 1 col 2

54 3

2 132

46 20

50 17000

120 240

160 48

56 7

5 58

127 30

60 1800




